
  ة   

  
    

   2س اد ا ح ان
 ول اا:    ا ق ا 120    ور  م ه ا

  ى اا  ا ا  ى ا:36        + - Q 4Q2 =CT  

 و  ا ا دا :Qdx = 180 +   

1−    ضا دا ت.أوا  .  

  .أ ا و ا و ا   اازن  – 2
       

 ا ما:   ري داا و   وع : 

5000 +Q80 + Q26  =CT 
                                                            ا دا  و       : P = 1080 −4Q  

  .أ ااد ا و اي – 1

2 –   ؟ أ ا  و  .  

3 –  ر تا  م رة إذاأو   ا ار ا د: 5 ات5 (  و =Q (.  

 ء ا ا   اال ا   ا ار  امج أو ا ؟  – 4
   إ ؟

 

 ا ا:  ا ا ا ا دا   :P=100 -2 Q  

  وق اا  ا دا  :Q1=32 -0.3 P1  

  وق اا  ا دا : Q2=20 -0.2 P2  

:Q=Q1+Q2         

  ا ا دا:CT= 0.12Q2 - 2Q  + 11         

  .ا   ار ادي  ا  و  اازن و ا ا - 1:اب

2 - ا   ا ا ا ازن وا  و  ي  اا.  

1 -   قا  ا  .ذا و أن م . 

 

 

 

 ا و روا دا ا                                 ا وا LMD                                                         

 بالتوفيق للجميع




